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10000 9800
3000 3300
500 600
300 330

1000 1200
6000 5000
1000 2000

21800 22230

5000 5000
10000 11330
3000 2000
3800 3900

21800 22230
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AR = E  / TL

 – equity capital ( )
TL – total liabilities ( )
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CR=EC/FA

CR – cover ratio ( )
 – equity capital ( )

FA – fixed assets ( )
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LR – liquidity ratio ( )
 – ,  –  ( )

.

 (1- )

LR1 = B/TCL

B (cash balance) – 
TCL (total current liabilities) - 

.  0,3.

 (2- ):

LR2 = (TCA - I)/TCL

 –  1
TCA (total current assets) – .
I – inventory ( ) – , 

.
TCL – .

 (3- ):

LR3 (CLR) =TCA/TCL

CLR (current liquidity ratio) - 
TCA – 
TCL – .
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